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Energy Problems - Set 4

Consider a satellite in a circular orbit of radius  about the Earth.

a) Calculate the Total Mechanical Energy of the Satellite
(Potential Energy plus Kinetic Energy)

b) If the satellite is in low Earth orbit, 200 km above the Earth's O r J
surface, how much work must the satellite thrusters do to :
boost it to the Geosynchronous orbit?

The radius of the Earth is: Reua = 6.37x10° m.
The mass of the Earth is : Mg = 5.97x10* kg
The gravitaional constant: G = 6.67x10"" m*/(kg s%)
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